
 

Two spheres with a mass m

on threads of length I 2M

repel each other after being
equally charged as shown below
What is the mass m
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An election is released from
fest from the far left The

final velocity of the electron
is 4.0 10 m s at an angle
0 180 The magnitude of the

electric fields are the same

between the two plates 1.6 10 19
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a what is the magnitude of
the electric field E
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b what is the length L
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An infinite nonconducting
sheet has a surface

charge density 5 sperm
How much work is done

by the electric field due

to the sheet if a proton
is moved from the sheet

to a point P at a

distance D 3.56cm from

the sheet
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